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- ..Direcﬁomfwﬁeﬁﬂowhgm(&)m B
‘Read the followitig frequency’ dlsiribiution

~ for two series of observations .and answer
the two items that ﬁollow o

ok Frequenqv

: - Series-I,

1020 | 20

| 2030 L 15

30_40 .'10;__:_-'.'-.
5060 | y

' Clqss interval'

iR > o &

Series-Il |.

| s160%) J19]21[153312| = 6400

Total | -'100‘.-ﬂ 100

1. Whatlsmemeanofﬁ'equencyd:stn o

butlon of Senes-I ‘?

1

) 356
© _37:6

@ 39-6'-7'

Whatlsthemodeofthe ﬁeqmcy'

dlstrihntlon of Senes-lI ?
. -'I | l(a).26

BNCE"

@6

@ 56 .

| sz(m%) 24|1820[30/ 8| 3000 |

: Dmcﬂom farthefoﬂowingﬁur(ﬂ)m o
‘-Rﬂdthefollowmgmforminonandanswer -
‘.'_,jthaﬁarltemsthatfollow -

Let the disiribution of mumber of scooters of

_ companies X and ¥ sold by 5 showrooms .

(4, B, C, D and E) in a certain year be

- denoted by S1 and the distri ution of number |
. of scooters of only company X sold by the
' five showrooms in the sameyearbe denoted

_bySZ

ShawmomABC_DB?qfs ors sold

3. Numberofscootersofcompanyl’sold‘ .

byshowroomElswhatpercentofthe
number of scooters of both companies
soldbyshowroomC? o

(a) .52 '7 i
' (b)"_54

@ s .

@ 5‘6
mba'ofsoootetsofboﬂlthecompa-

. messoldby n B is what per
«cent-more than the of scooters
ofcompanstold‘?yshowmomA? .
(@) 784 |
®) 83}

@ 86%

@ 83
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PR A IR xS g d@
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 (a) 416 | |
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| "mﬁm(ﬂ)uﬁtﬁqﬁ&t

P o 3t R s st
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T aft oo e €

|t o | 40957 [46070 | 52750 | 48745
IRt
[Pl i dm

wddgen | 4037 |3125 | 2585 | 3559
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w2014 | 2015 | 2006 | 2007 |

12330 | 13894 | 15746 | 20457
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5. What - is the average - number of
scootersofcompany Ysoidbythe
'shoquomsAC_andE? Lo

(@) 4611
(®) 4313
() 4261

@ “ey

6. What is the differcnce between the

- number of scooters of both companies

soldbyshowroomAandtotalnmnber_‘
. of -scootéers . of company X sold by

 showrooms B and E together ?
@ o
| (15)‘ 426
© 432
@ 436

Directions for the foﬂowhlgfonr (M)_Ms :

' Read the following information and answer

the four items that follow :

'-nedatashowsthatmroadsmumng S

deadlier over the years.

" | bikers killed
| Number of

A vumber of | oot | wenc | ncoc | scca:
e iiod | 4097 | 3125 2585 | 3559

]_’am_'-' | 2014 | 2015 | 2016 | 2017

Number of (49957 | 46070 |52750 | 48746|

| pedestrians {12330 | 13894 |15746| 20457|

7. What “was- the avei'age:nux.nber‘o'f |

pedestrians hlledperdaymthe ye«r,'~
20172

(a) 51

) 53
© 54
3 (d) 5j 6

8. What is’ the approxlmate percentage

change in_the pedestrians’ fatalities
“during the penod 2014—17 ?

@) 66%

_(b_)_ 68%

'(é)' %

(d) '?6%

. 9, ‘What is the average,number .'of- bikers

killed daily in road accidents in the - 3

- year 2017 ?
(@) 163
@) 152

© 14.7’
@ 134

What is the average number of cychsts
killed dmly in road accidents in 2017 ? _

(a) 10
12

| '--_(é‘) 19
 @n
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Let @ and b be two pusmve‘real
'numbcrssuchthata-\/_+bw/_ =32 and
aw/_+bw/— 31, What;sthevalueof R

- S(a+d) 9

7.

@5

®7

- {c) 9

'»_.wmch one ofthe followmg equanons ?

. @ Cmnoibedetmned )

1443 .

If x=
2

—x3 thenysaﬂsfies

(@ 8?-20y-1=0
- ). 3)’2"'20}’ 1= 0

@ grpE1=0

@ 3y2 20y+l*

' 139

_ HCFoftwonmnbersnle Whlchone', o
) ofthefo]lowmgcanneverbethelr
LCM?‘ L

(@) 80

. (® 60 i

. © 36

BRCE

14. Consﬂerthefollomng statements

- Unit digit in 171 is 7.

2 Dlﬁ’erenoeofthesquaresofany.
two odd numbers i is always dms:-r._

' bleby8

3. Adding 1 to the productoftwo'
o consecutweoddnumbersmakeslt'_ :

a perfect. square

(o) 720000

‘.Wlnch of the above statemems are
‘ .'con'ect?

@ 1 2and3
© twizay
(©) 2 and 3 only
‘(d-) l‘,al'ld*:3'on'ly-__

e

Is.Therateofmterestohtwodlﬁ'erent |
: *schaneslsﬂxesameandlt is 20%. But
“in one of the schemesL

the interest is

" compounded. half arly and in' the .
- other the interest i compounded

o in'theschanes..lf.the ifference of the
retumﬁafter2yea131s 482,'thenwhat_'

is the principal - aniount in each

. schc?
@ t;o,ooo_ |

| ® 716000

@ 000

16. -Forwhatva'lueofkcd,nmeexpm’smoh”.

P +ld- 7x+6bereéolvedmmthree |

 linear factors ?
i'(a)_-o__ |
ot
@2
4 @
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B WhatlstheICMof%, -2—,

R

l7.XYandZstm'tatsamepmntandsame"
© time in the same direction to Tun

aroundacucularstadmm X completes

~ a round in 252 seconds, ¥ in 308
. secondsandZleS seconds. After

. what time will theymeetagmna:the
. starting point ? _

_ (a) 26 mmutes 18 seconds
®) 42 ‘minutes 36 seconds
(0). 45 minutes

@ 46 _mmutes 2 seoonus!f
4

27?

»

solm'_

s
- 1
®) >
10

) >
@ 3

19 i3 the equatlons x2+5x+6 o aml,
2+kx+1=0 have a common root,

thenwhatlsthevalueofk?

' 5 ) 10

- A received. T11200 as interest from .-

. zo.AlenﬂzsoootoBandatmesme

" time lent some amount to C at same
7% simple interest. After- 4 -years

| BandC Howmuchd;dAlendtoC?_‘

: _(a) tzoooo

. () 25000

© ?15’00’0 | i

@ t_mooo |

21,

'.oneamdalossbf3

Atradersellstwocomputersatthe'
same price, making a profit of 30% on

_ o on the other.
What is the net loss or profit

._pememageonthetransactmn? o

(@) 6% loss

®) 6% gain

© s

- -(d) 9% gam

22. ThemonthlymcomesofA andBarem

the ratio. 4:3. Each saves ¥600. If
ﬂlelrexpendlturesareinﬂaemno3 2,

_thenwhatlsﬂlemonﬂz{lymoomeofA? S

(@) T1800 .

(&) T2000

© 22400

@) 3600
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. 25,
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SR
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®) 35cm
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23 Thetramfareandbusfarebetwem.

“two stations is in the: ratio 3 : 4, If the
train fare increases by 20% and bus
fare increases by 30%, then what is the

‘ratlobetweenmwsedt:amfareand-'\

o rovised bus fire?

S
-~ (a)

B

'1‘7'  _
.\‘.(b),a ;

S

19

@ 5

24. When N is divided by 17, the quotient

is equal to 182. The difference between
the quotient and the remainder is 175
Whatlsthevalue ofN‘?

@ 2975
(6) 3094 .
(c) 3101
() 3269

'25. A stock of food grains is enough for -
240 men for 48 days. How long will

_ thesamestocklastfm'lmmen?
(a) 72 days J '
. (b) 64 days'

(¢) 60 days

(d) 54 days

T

2%

26.

@

(@)

A hollow nght circular cyhndncal o
- vessel of volume ¥V vdrhose diameter is

equal to its height, is icompletely filled
with water. A heavy sphere of maximum
possible - volume is .then completely
immersed in the vessel. What volume of
waterremamsmthevessel? _ :

Threepamllelhm:c,yandzm"

cut by two transversals m and ». Trans-

. versal m cuts the lines x, y, zat P, O, R

respectively; and Transversal n cuts

the lines x, y, z at L, M, N respec-

tively. If PQ=3cm, QR=9cm and

MN= 105cm,thenwhansthe1ength S

of LM?

(a)Vch_'

() 3Scm

28

() 4em
(d) 45 cm

Theamaofasectqrofacarcle of-'.
radius 4 cm is 256 ¢m?. What is the

.'.radlanmeasureofthearcofthe'

‘sector?

@ 23

® 32

) 33
@) 34
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. =1 PN e B ABC ¥ S BAC

= fewors BCA g fmr &1 '-

o PrfRaiAdm Aty

(@) AB<BX |
® aomr

@ vEm A

- 31,

Togfc0s8) + log, fsing) + logyq(fanB) +

- logw(eotﬂ)+logm(sec9)+logm(cose06) -

_ 'arnmam%? | .

@1
® 0

- (€ 05

32.

@1

’qﬁcﬁs’ﬁt+oosi 18, @

sinl2x + 3sin!% + 3s1n8x + sm‘x o

- ﬂmm%?

@1

®) 2

4
() 8

o SDHYT-MI‘H

-C

33

uﬁ:o<a<90° sing= -"aaﬂtx cotG

%
1+3x+9.t2+27x3+81x4+243x5 ,

- a;rwmm%?

" @ 941

®) 1000
@120

.V(d) s B

34,

30 20 drk A O % e
() % P A Y e

PR R PTG B N E

@
) 2= n?

- '12 |

L R T R g 7R g
. PREH ¥ R it o xsk
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T |
=15,
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9. Which one of th@lfbl'lowiﬂg is correct
in respect ofa r'ightian'gled triangle ? -
(a) Its orthocenn'e hes inside the. |

" (®) Iis orthocentre Lies ohtsude the[

. tnangle

B tnangle

© ,Itsorthocentrehesonthemangle L

(@) It has no orthocenu-c

Let the bisectorot' the angle BACof a
triangle ABC meet BC in X. Which One

~ of the. followmg is correct ? -

'_,_-.":"(a) AB<BX

_]_j:':(c) AX = cx
@ None ofthe above

31

W_hat_ is the' .value-_of ‘log,g(cos@) +
logyq(sing)+log;o(tan6)+log,o(cot8) +

logw(secﬂ)+logm(cosec0) ?

@ -1

W-__(b), 0

(9)'0-5

3.

IfOOs2x+oosx lthenwhatlsthe-‘
 value.of .
~ sin'2x + 3sin% + 3sin®x +‘sm‘x?-

@1

® 2

@4

@ |
' . ':. &‘13

33.

IfO<9<90° smﬂ 1amdx cote '

thenwhatrsthevalu¢of -
l+3x+9x2+27x3+ 1x4+243xs'? |

L) %41

® 1000

@ -1365l

(© 1220 : - -

T
S

Theangiesofelevatﬁonofthetopsof o

,twopﬂ]arsofhelgh&handzhfroma-

. pothonthehneplmngthefeetof‘ -
"'Tthetwopluarsare
- . the distances of the

'ﬁ'omthepotharexandyrespec-'

oot of the plllars-"‘

tively, then which one of the following

- :is correct 7 .

@
S We=nr

| .:(.c‘) 2"2:33’

| (d)'-zh2='x5=- |

35,

What.stheva1ueof's‘“19°+°°373° 9
.. cosT® sinl7®

@0 .

@z

@4
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¥ wR o e i ok 2w
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® 4

(). 66 cm
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w fRf # g PR R i Y 7

@ x=65mAy=65cm =

®) x= 12_cm'3ﬂ'{y=750m‘
(c). i'éScmﬁ(y= 12_-cm '_

@ x=0cm 3ﬂ'{y=13 om

BT

39

awﬁgﬁ ABcafhPQRawﬂnw

FAN: 75 cm AR 500m ¥ | AR P

© PORE TH Y R T 20em e, @

- _ﬁawucﬁsa%mgmﬁmﬁ, o

(a_) 250m =

® 30 om

@ 40m
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. Fed Rt PRIR QSRR oW -
Covkek T ¥ AR P grRs @

| 10‘_cm§,-' o et PRAY st 2

@ Siem
(b) 1043 om

N .(c) ISJ_cm -
.(d) ZOJ—cm

'_‘.41,'@m%ﬁammﬁ%m

xydRzE I M A wmamA vy,
| ?ﬁﬁﬂﬁ-ﬁaﬁ%ﬂn’tﬂm@ﬂ@%? :

- @ V==xyz |

__(b) Vi=yz
@ Pem

@ V=@



36. Thepenmeter of a triangle is 22 cm. -

Through each vertex of ‘the triangle, a

“straight -line parallel to the opposite |

’ 81de1sdrawn.Whatlsth¢penmeterof

triangle formed by these lines ?
@ Bem |
®) 44 om

© em

- @ 88'cm

37Thes1desAD BCofairapmum-

- ABCD are paraliel and the diagonals

AC and BD meet at O. If the area of .~

" triangle AOB is 3 cm? and the area of

triangle BDC is 8 cm?, then what is the |

area of trangle AOD?
B (@ 8_(;11}2

®) Sem
(@ 36 o

@ 18 em?

38. Ahne segmentABlsthedlameterofa

circle with centre at O having radius

" circle ‘such that AP=x and BP=y,

In which one of the following cases
the point P-does #ot lie on the circle ?

@ x= 6}5 em and y = 65 cm -
(®) x=12cmandy=5cm
(¢) x=5cm and y =12 em

(@ x=0cmandy=13cm

39.

The penmetets of two | r triangles -
ABC and PQR are 75cm and 50cm
respectively. If the. lquth of one side
of the triangle POR ‘is 20 cm, then

~ what is. the length of corresponding

" side of the triangle ABC?

.':@ 25cm

(b) 30cm.
(c) 40cm

_ (d) 45 c;n

* triangle having a side of length 10¢m, -

‘Let PORS be a°

diagonals PR and QS intersect at O.
If - triangle QRS is an equilateral .

thenwhatlsthelengﬂnofthedlagona]

_PR?

- (a) Sﬁcm g

a4
' 650m.Pothlsmtheplaneofthe _

15

®) 1085em

(¢) 15{3cm
(@ 20\3em :

.Thearéésofthr.éead;ddén.t-facesof'a |

~ cuboid are x, y and z. If ¥ is the volume

- of the cubmd,thenwhlch.one ofthe, '

rfollowmg is correct 7

| '--(a) 'V.=‘m

® =9z

Ai(d)A V= (2P

C - SDHY-T-MTH
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R

42#&%@&@%&%

| (:hﬁm)ﬁm:% amm
_'qmit? o -

43,

o

3

© BE
@

.-masrqaingocmﬁwrﬁrﬁ@
WIEIXFEFL, MR
150° 1 U@ Wr diofg e @ IR
. WA EmswIag R
| mﬁwmaﬂ%aﬁgﬂiﬁrﬁm- -

w@:h?

48,

Xt = R fig

m?ﬂﬁq‘ﬁmPSﬂtqmﬁl“ o

xr pw g Bk CART, Ak
gRQA TG DR EARM 1 2R EX
I Rl @1 € @R DA PR Al

WA paR g AR

- P B gt S g ¥ AR
Py .POR N yoEt & wey figait

PR ww P ABC W S,

ﬁﬂWABCHiT mw@m ?/

- (@) 4cem?

o 0 §ut
S (© 16
@ 32'c;n2_"_

. SDHY-T-MTH -C

R AC:AD=4:9 ¥, &t Pam ABC

| 'a\zﬂg«rmﬁwﬁmmw'* |
27 -

._-____(a.) 28
C®) 4:9

-V (c) 16 81
U@ 1:2

46.

mmmmwmﬁa@
Twmaeg gk A @ o

 wmd Pk A Wy

ammaww%?

@ 34

 ® 23
'_'(c)4»J‘9 -

@ 2«/'9;.'

(@) —cm
3
®) 7cm
:'(c) Scm
@ mﬁﬁﬁ%‘mﬁ‘éﬂﬁ -
- ' 3
44,77 SR P, QAR R, 128 e amrer- S

mhmaggaiﬁraﬁmﬂi
o wm- ¥ | Rt 122 % siga

~ ) AR Rt & et oA
12mn%,a‘fﬂﬂma§§a$réﬁtﬁa -
.ﬁﬁm%?

@ 9om?

o e
. (©) 16 cm?

@ 25 m?

16 .

AR A= Fh



42.

Iflmthelengthofthemedlanofan |
-equilateral 11'1angle, then what is 1ls _'

area?

.oi’—.

4’12 o o

\-(b) -

Ifltlsbentmtheformofaclrcle,thm

(c) e
(d_): 27

subtendmg an angle 150° at the centre.

2 what wﬂl be its radlus?

f__(a) = om

B 7"011_1‘

(c) 8cm
(@) None of the above

'A'pleée of wire is in the form of a
‘sector of a circle of radius 20cm,.

Suppose P, QandR arethemld-pomts‘:

" of sides of a triangle of area 128 cm?.

" . ' a triangle ABC is drawn by joining

. the mid-points of sides of triangle
. POR, thenwhatmthem’eaofmangle '

ABC?

g @ 4cm2 _
@8 cm?

C© 16w

(@ 32 om?

17

45

Lettwohnespandqbeparallel

Consider two points B and' C on the

_"fhnepandtwopombandEonthe
line g. The line thropgh B and' E

) mtersectsthehnetlnou
- i between the two li 1
. AC:4AD=4: . 9, th'envqhat

CandD atA4
P and q. If
is the ratio

" of area of triangle A4BC to. that of

triangle ADE 7

' ,-.(a) 2:3

46.

47,

(b)‘ 4:9
(c) 16:81
@ 1:2

AnequﬂateralMangle@dasquareare'

~ constructed using mefallic - wires of
~ equal length. What is. ratloofarea'
‘__ofmangletothatofshuare‘?
" '--(a) 3: 4
®) 2:3
'(c) '4«]5:9:. '
@ 243:9
Authefomsldesofapmuelogrmlr

are of equal length.

| -'lmgthsofthedlagonalslsucm,thm :
'whatlstheareaofﬂldparallelogram?‘

@ 9om?

@ 12@_2‘

: (c) -_ 16 em?

@ 25em® |
. C-SDHY-TFMTH

e diagonals are
“in the ratio '1:2. If the sum of the



.. m@ﬁw%ﬁaﬂmsm_— - 51,7 T TR fge ¥ ol A wd
VW AB=5mABC=10em®, = 10em?, A W TR F wwH T Hogr
ﬁﬁiﬂ%wmsﬁﬂqmﬁtm - ‘,maﬁmmmt? |
w0 @ 100em?

- S (b) 50 cm?

| S @ s

'__(b) zJEcin ST @ 10em?

@ 4em

() o B szqmwfmmmwtﬁiﬁﬁﬁ |
X T S A 201 om P R o T R R

tlgﬂ%mﬂaﬁiﬁéﬁmﬁ' o

‘(d)Scm' o smtr
| | i @ 17
| 49.mmaﬁ%ﬁaa‘hﬁrrhsaf. Co®) 711
23tsramaﬁ‘%wﬁm'ﬂ    (¢) 20 19 -
3‘3‘""’"‘“%? | | @ 19:20

'(_‘)_:‘5‘1 C | o ss-.ﬁamaﬁw%aawmmzocm%sﬂt;
e | - “'_maﬁqﬁwéﬂmlomcmz%l
. ® “E‘/E S A aEw e 7 :
@2 T (@ 4000 em®
T - (b)- 4500 cm?
@z g 5000 om®
Cso.uw ww A otk O oo
- 20% 3R 10% T & St & ) @ F ummmmﬁmmssma |
| mﬁﬁmmq&@ﬁ%? . MR TR
t L ‘ ,"-ﬁmwtliﬂ%hmﬁwm
@ GdRawmwd -
C® 0% . S @ 1
| I ) e
e | R O R £
@ 15% . ] @ 150°

© 5%

. SDRY-TMTH-C = s



i 48.ABC13 a triang] e'ﬁgiili angled at BYE

51.

AB==ScmandBC lOcm,thmwhat o

mthelengthoftheperpendwalar

* drawn ﬁ'omt_hevertetho the .

hypotenuse ? L

@ dem

® 2J§éan |

@ 8 om

the atio of their radii ?
(a) J' 1 |
(b) «F J— B

- (c)'Z_:Ji :
RORRY

. Hvely. Whatlstheperomtage increase
- mtheareaoftherectangle? .

- ‘(a) 32%

) 30%

©. 25%

@ 1%

49, Twocylmders ofequal'voiﬁine have -
+ * their heights in the.ratio 2 3Whatlsf

| sn. Thelmgthandbreadthofa rectangle.
_arqmcreasedbyZO%andIO%respec-,

If the length of thé hyﬂotenuse of a"'

_fnght angled triangle: is; ‘10 em, then

 * 'whatlsthemaxmnma#eaofsucha

@ Bem®

'-fthatof‘squa:e?' o

) _nghtangledtnangle? K

(®) 50 cm?

@ 10 cm®

A square is drawn such hat its vertices
_are lying on a circle of radius 201 mm.

What is the ratio of aréa of circle to

(@) 11:7

NONEE
© 20:19 1
@ 19:20 o

A nght cm:ular cylinder |has a dlameter -
of‘ZOcmandmcmvedsmfaoeareals
1000 cm®. What is the volume of the

cylinder ?

@ 4000‘¢m.3
(b 4500 om®

: (¢) 5000cm3'
“‘(d) 5200.ca®

.

'_Apleceofwne othgth.?&mmsbmt v
_into an arc of a circle of radius 14 cm. -

" What is the angle subtended by the arc |

-.atthecentmofthe clrcle?

@ s
SOR 8

@ 150°

- 19};'; ‘

(c) 135°

C- SDHY-TMTH



55, 7 Promr A1 ww sivfge ¥ uw sl o f

- '%amm,rﬁwmwga%
_amiaaﬁ#aﬂm%maqmwt?
'_(a)12 '

:'(b) 2:5
- (©) 2:3

@ 3:5

56.

%ﬂmm ’wﬁ? -
@ 1,-2,3,1

®) ‘-1,2,-'3,1

© 1,-2,-3,-1
@ -1,2,-3,-1

. 57. % g B 3o Fm: 30cm,28cm

ST B ?

. (a) 37,11,28, 16
() 21,30, 28,7
(© 37,21,11,9
@ 37,21, 9 7

58, uﬁ logml995 =3 3000% ﬁr
(o 001995)8 awma T % ?

. 1 7
(@ 53 100537
- b T
L
© o5

1
10575

@

SDHY-TMTH-C

W x- x2+7x+s L1 (x+2) %r:
o fen W &, @ wmew
ax3+bx2+mc+dm%|a,b c3ﬂ'£d“'

.amlscm*e‘imaﬂmﬁma%_-
ﬂsﬁt{*ﬁﬁuﬁlﬁ%wﬁ

59, (x a)(x b)(x c)ﬁm%m%?

.(a) xa—(a+b+c)x2+(bc+ca+ab)x—abc :

® x3+(a+b+c)x2+(bc+m+ab)x+ubc |

(c) x3—(bc+ca+ab)x2+(a+b+c)x—abc, -

(d) x3+(bc+ca+ab)x_2._—(q{-b+c)x-—abc

ﬁ’l‘ﬂﬁXY Tmﬁlﬂﬁﬁ‘gﬂﬂ

fTET AR, W logg A WA T Y 2

B (ﬁmgpn%ﬁlog,oloso 30212311?_

| logwss 1 5441)

| (3 53070 < -

(b 53700

(6) 55635

(d)- 56535

- 61

‘@mmzma@a\z'

AR =W AW 6 cm 3K 4em¥ |

9@ T N RedER 8 om WER |

aﬁ@ﬁﬁqﬂaﬁaﬁmm%ﬁ

'-'a@aﬁrﬁﬁnﬁw%?

.(a) 4750m

(&) 550 om.

o ©) 625 cm _'

@ 6,-75cn;"

i T



5‘5‘

What is the r.atio_.of the area'ofia'-squérc
inscribed in a semicircle of radius 7 to_
theareanfsqu_aremscnbedmacn'cle‘

of radius r?

| @ 13 2

56.

*Whatmwethevaluesofa,b cand d -
©respeitively ? .

®
©

‘() 2:5
(e) 2:3

@ 3: s'

- 89,

The quotlent when x“ x2+7x+5 s

diwdedby(x+2)1sax3+bx2+cx+d

@ 1,-2,3,1
—1: 2'3 3: 1 )
1, -2, -3, -1

(d) -1, 2,.—3,' ~1 o

The sides of a triangle are 30cm,
28 cm and 16 cm respectively. In order.
to determine its area, the logarithm of
-which of the quantities are required ?

(2) 37,11,28,16

. (b) 21,30,28, 7
o (e) 37,21,11,9

58. Iflogml995 =3 3000, then what is the_

RO

| @).‘

(a)

@

(d) 37,21, 9,7

value of (0 001995)8 ?

1
1 00‘3 475

1.
10057

1

——

10°325 '

1
10%375

.21

61.

What is (x - a)s — B)(x — ) equal to ? |

(#)' f—(a+b+c)t2+{bc+cd+ab)é—abc'

‘ '(b) x3+(a+b+c)x2+(bc+ca+ab)x+abc

(c) x’-(bc+ca+ab)xz+(a+b+c)x—abc

@ lx3+(bc41cq+ab)xz—(a'+bﬁl-c).t—ab¢._.

Lét XYZ be an equilateral triangle in

" which X¥="7cm. If 4 denotes the area .

of the triangle, then what is the value

" of logigd*? (Given that log,o1050= -

3 0212 and logm35 1 5441)

. _(a)- __5-3070_ -

'. - (®) 53700 .

(c) 55635

@ 5-653'5 |

A hollow sphere of extema.l and
- internal diameters 6cem and 4cm
respectively is melted into a -cone of

: .'hasedlameterScm.Whatlsthehelght o

_ ofthecone?

| (a) 475 cm

”'(b) 550cm:

- (d) 675 cmgj'

- .(c) 625 cm: L

' C- SDHY-TMTH



mﬁrwaﬂmﬁmm{

IOcmahtﬁﬂTﬁm-g fﬂﬁam' “
"*Wﬁ%mma@g@,&,
a 'lom%lm(m)mmﬁ_
mﬁﬁﬁ?ﬁ%? o
@ 25% N '
%

o © 1%

. 63.7

= (d) 100% |

mﬂ,?rhﬁ‘g)ﬂqai‘gmwcm%,"

w7

g :(a) 240 em

SDHY T-MTH

) 25cm

© 3em -

(d). 112 em

N ?“Hﬁawzﬁraﬁmqﬂmwﬂ __
o '(c)j.scm--

mﬁﬁ@@ﬁﬁ‘sﬂmmz |

o (ma%)ﬂaitﬁmmm:
,'ﬂ‘rgv |

@ 25‘4‘-‘?3.3
C@ww
| C@ 431?3,-.5 o

-c

6.

™ T (ﬁﬁm) ABCD‘R ﬁm" |
- $ifir, Rt 4B 3R cowmiR €, dR
AD, ABR wa ¥ o wew A w
. '.--méa%ﬁwahzqtaﬂ'(c:paﬁ“-"
. FRafwad, el EB=25cm Ak
. < FC= 16cm% argammw%? |

' "_:(a) 16 em

® 25cm

@ wm

3°""4°‘“3‘1‘5cmm1aﬁaﬁaﬁ

"WW%lmﬁﬁwmgq R
@ 12cm |

67.

@ 6em

@ﬂd'ﬁ%mralma 155232cm2-e| |
Waﬁ%ﬁﬁww% 7

(@) 40em

~ (b) 42 cm
‘ (c)" 38 cm -

68

‘;'@mq‘ﬁﬂﬁ%wﬁz;' |
A ¥ gmR ek e % oww

AW Gcmaﬂt 1zcmg |-qﬁaﬁ57ﬁ

"‘ﬂmt'a |
@ 535_cm_3 |

(b) 462 cm?

C(¢) 234 em® -

o



62.

‘ Whatlsthepercentagemcreasemthe |

A solid metallic cylinder of height
10cm and radius 6.cm is melted to
maketwocones in the ratio of volume

1:2 and of same height as 10cm.

- flat surfaoe area?

@ 2%

@) 50%

 (0) ‘75%_

) @ 100%

If one side of a right-angléd triangle

(with all sides integers) is 15 cm, then -
what is the maximum pmmeter of the

mangle ?

@ -240-@ |

@ 112cm

(b} 225 cmm

=(¢)  113 cm.

A thin rod of length 24 feet is cut into

"rods of equal size and joined so as to

" form a skeleton cube. What is the area
: Aofoneofthefacesofthelmgestcube
_ timsconmmcted?

@ 25 square foot

®) 24 squae fot

S (©) 9 square fect

(@) 4 square feet "

65.

Conmderau'apenumABCD in which
"AB is parallel to CD and AD is
perpendicular to AB. If the trapezium

" has an incircle which tpuches AB at E

-and CD at F, where EB=25 cm and

- FC=16cm, then what is the d;ameter'
~ of the mrcle? n _ '

(@ 16em .

66,

(b) 25 cm-

@ %m

(@) 40.cm

Threecopperspheresofraduiicm,‘_

~ 4¢m and 5 cm are melted to form a
~ large sphere. Whatxs:tsradms‘?

(@ 12 em

| f(b) lOcm

- 67.

(c) 8cem
@ 6om

The 'volum.e of a :hemisphere is

155232 em®. What is the radius of the -

hﬂmlsphere ?
() 40 cm

_' -(b) 42 cm .
- {c) 38cm-

i

@ 36em

"A.'bucket_ is in the form of a.fmnéated |

- cone. The diameters of the base and

+is 7 cm, what is the Icapaclty of the..‘.‘ .

. top of the bucket are 6 cm and 12 cm

respectlvely If the helght of the bucket

bucket ?

(@) SIom®
- {b) 462.cm®

(@ 166 cm®

(©) 234.om’

C-SDHY-TMTH



69.

o g iy A S gom® AR

% AmR H e 6om B & ww
gﬁrgﬁhéﬂmﬂﬁm%? |
(a) 9%n cm®

® 69 o

- (¢) S4n om?

o @ 4smn2‘

70, B¢ ﬂaﬁlﬂ#%u@miﬁrgﬂrlzmt

| ilwmaﬁmwwm”
Pty

T ¥ 9E &, B ¥ R e W@ g

~ (a) 3000 cm?
() 3600 cm?

mn

- R EEEr
o (a)'w?fg‘ﬂﬂﬁ

..#&ﬁiﬁwﬁm

©) 3744 cm?

@ 37177 om?

SR W A 28

ORI

@3

/ (d)

T2,

ﬁﬁ%ﬁamﬁmﬁaﬂfr&q

Lo v g ke ¥ Rig pERE:

R, AT rF R p

ﬂﬁmmél

| 2ﬂﬁpwqrahﬁmﬁmm- :
tdk R p, g =t ot B .
%ﬁp,rﬂ%mﬁmﬁaaﬁmt_

SDHY—T-MTH

| Wﬁ%ﬂﬂm/ﬁww%/t"
.(a) 'aﬁﬂl S

() 1#R 23

@ @, aé’rz

R S ——

T oG T B g R e g R,

W R T D IR

-'_mﬁamalmﬁmﬁm

@ 8

N (c) 10

S T4,

@ 1

qaa:ﬁn%:msoomﬁ 7w o -
SN ¥ IR G Sl Twr 21 AR
%’?ﬁmm ._.fl--A'aaiﬁr‘ﬂﬂasm% 3R TR 6

e wd T W s AR AR

$ 7eqq &, o 7 R wdet Y=g

| &rﬁaﬂam%?
@ 10 '
®) 14

(©) 15

@ 17

:.ﬁmg%ﬁy,«/_%ﬁgamaqﬁht

5

A x=369 y=36% lxa:rmw

‘%'\ﬂﬁy=54'§7
@ 54

®) 27

. (c) 16
,(d) 8



6. Anghtcmu:aroonehashelghtscm.  Which of of the abm st+tements isfare
Iftherad1usof1tsbase136cm,then . ) jcorrect? o
whatlsnstotalsurface area? - (a) 1 on_ly_ Lo ke

@ gnem L 2y
| () Bothland2

(b) 69 cmz ) | WL

() 4 . (d) Neither 1 nor2 1

©) 54m om® o |
S R .'73‘.RadhaandRamarems¢rs Fweyem's -
(d) 48"““2 R " back, the age of Radha was three times -

./ that of Rani, butone’ye&back the age

70 S:xcubes, eachvnth 12 ém edge are = - -of Radha was two#imes that of Rani.

. Jomedendtoend.Whatlsthesnzface-'_ : ;_._-ﬁ‘What is the a,ge d1ﬂ‘e;ence between :
ofresultmgcuboui? R .‘-them? - . .
(a) 3000em® . - o o SR

| R T

® 35"“"“‘ . T e@w
(c) 3744 em?- S ,(d) 11 . ' |

(d) 377‘701112 S 4 A person  carries ?500 andwants to
R " buy apples and granges/out of it. If the
costofomeapplelaﬁ}andthecostof
ohe orangeé is T7,. .what is the
numberofwaysmw hapersoncan _
. . buy both’ apples and- oranges usmg
- totala.mount? oo :
“(a) 10

. ENURL
@ Two- @S

. Ifme sum ufa real mimber. and s
' recxprocal is 4, then how maiy such '_
“nuiribers are possible? '

] @ _None '
@) One

(d) Four | | o . :(d) 17._. L

72.66ns1derthefollmngstntements _ -'J’ and x = 36when Wha
the valu of h *=54?

L prlsrelanvelypnmetoeachof S ¢ value xweny

o "qandr,thenplsrelau\?elypmne @ s )

o ﬁto the product qr- R " (b) 27

_ 2, If P divides the product qr and 1f : fc)lﬁ o ,
~ pdividesg, thenp must ﬂmﬂe N (. I  JE

<}



- 76.

iereTTmA A2

@ 4+7

@A
@ 3+47

T

78

@ 3T

75, S”sﬁtﬂﬁaaﬁiﬁrmm" :
- wn ¥ 7[R g Rz logye2= 0301,

103103 0‘477 10g107 0'845]

_(a) 21, 20 19 -

('b) 20, 19 18 |
© 22,21,20

L @2z202

-
o x bl 14 % Fenfoa fen s g @

JET 70T Y RS 15

frfra f sman &, A w5 g
.Elﬁﬂﬁ-ﬁ@aﬁﬂaﬁﬂm@wgv

. (a) 20<x <30
() 30<x<40 -
| (c)40<x<50 o

79.

@ x> 50

‘.‘Fﬁﬁﬁzﬁﬁﬁﬂaxaﬁ}’ﬁ@
iR ywmxRdwm R wh

¥ W o 20 e o0 wRh B

st & 1 AR x sk y 3w e Ry
o oY o o o 15 Pee i

e AT R IR G

R SDHY-T—MTH

S T, e S W g R R

m@%ﬁ'ﬁﬁmmm ? ..

C

26

- "-(a)lsoﬁa-'a
- ® )4sﬁ|=|z

B © 6ofFe
@ %ofme |
ﬁmﬁr&amﬁmﬁwﬂﬁm
VB wREent |
R m%mmﬁmﬂﬂwﬁx%ﬁ .
._.....<—-| o
_;' 8 . _
o x=2
—-—-—-—<lt .
o = |
- 4.4232323..... ﬂptmﬁﬁm -
s mm% Wpaﬂtqq:ﬂai%r*
",mgﬁﬁ%W%mH@I?? o
@ 1aﬂtz |
- O 23k3
. (© 334
(d)23ﬂ'{4 o
@gmmmﬁtﬁmtﬂamgﬁﬁ
- e e 510 %, IR F R W 7w
240 ¥ 1 war ¥ wRA % 7@ 30 R
TR T RN A
mﬂgﬁaﬁraﬂmmw%? o
@ 216
BOE- I
@ 285
@ s



' 76. What is the square root of7.1_6_+‘6wﬁ ?.

@ 4447
® 4-7

@ 3447
(@ 3-47.

T7. What is the number ef tﬁglts m725 825
- and 9% respectively ? [Given logs2 =
0301, log,3 = 0477, 1og,.,7 0845]
(a) 21,20,19 .
® 20, 19, 18
(©) 22,21,20

:(d) 2,20, 21

-

78. Let x be the smallest pomhve integer
such that ‘when 14 divides x, the

" remainder is 7; and when 15 divides x,

" the remainder is 5. Which one of the
following is correct ? '

@ 20<x<30
L) 30%3<'4o

(c) 40<x<50
@ x> 50

tank. If only X is opened, it drains out

* the. full tank of water in 20 minutes.

If both X and ¥ are opened, then they

TwotastandYateﬁxedtoawater_

dramouttheﬁﬂltankofwatermi

15 minutes. If. only Y is opdned, how

‘longdoeslttaketodramouttheﬁlll_ '

'tank of water?

27

@ 30 mmutes

(b) 45 minutes

(©) 60 minutes

@ 90mmutes :

2 There exists at least a posmve',:. o

81.

VConslder the followmg statements

1. a -\/ﬁ 1s arat:onal number

mtegerxsuehthat__ _1'
5 8-
' =2
3 == forallrealvalues ofx
4, 4.'232323 . can be expressed m-' o
ﬂle'fermgwherepandqare |
" Which of the above staiements are
correct? '
@ Tand2
() 2and3
(c) 3and4 -

@ 2aﬁd4 :

A hbrary has an average mnnber of :
510v131t0rsonSundayand2400nother :

" days. What is the average number of .

visitors per day in a month of 30 days

besmnmaw:thmday?
(@) 276
@) 282
@ 285
@ 375
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L Y m R dk W AT

(3)32

2.9 Fogp 1 -g,.qu.,y‘gni(z o8 t@ amﬁai T x ¥ R % %‘
' X +- 1 :

. (a) _15 S
. ' mﬁﬁﬁﬁ'ﬂ'@mﬁ H’f(x+y+z)ﬁ?ﬂa?‘ ] tb) 05
,(a);,6..

o L © o-_s','
®w?r @

(@8 R _; : 86. ‘qﬁ 10” 1523><759xl(152 a?r ﬁmﬁa

(x xz)aiﬁam%lxﬁﬁaaim%?

8-@wﬁsﬁa@3ﬁﬁ%maﬁm o @ 20_‘._.
S T RA Y R R l0%w eym
'm@m%a\t@ﬂwm‘%ﬁaﬁl_{g e
: ﬁﬁwmmmmmﬁm @B
- R o o - (d) 28'-1‘
@ l%srﬁr | S
o) 1%
© at-rm-rrmﬁ
@ OS%m

87, 3%_ 389%1?15&33@1%5*:&%“_
”mﬁhmm%? c
@3 .
LI
@7
. wemmdnRmEmmmil @9
R o A W 200 km T W A L | .
wRm T AR W R '-JB&WW“W*“'RWW""

e sofme v s § 1FRA 204 |5=rm13ﬁa;nﬂmwg ?
o wﬁraﬂmﬁﬂﬁr%mﬂmw% ? |

'u.-ewmaﬁqa:maﬁa& 120 km TF

@38
 omas B

©3:4 . . @30 | s
@ @26

SDH¥TMTH-C . .28



3% . 1 . 85 A real number x is such that (—x%)
821f-ﬁ-3+ 1..‘Whemx,yﬂndz.- e 1smax1mmn.Whatls;xequalto? '

iv— o :
Yz (8) -1:5

arenaturalnumbers, thmwhatls " "'(b) 05

(x+y+z)equa.lt0" B :
. (@) 6

©s C - 86. If 10" divides 62%75°%1052, then
: e B whansﬂ:elargestvahueofn? -

- (c-) 05
@15

@ ? | (a) 20
"-83.Ape.tsonsellstw01temseachat ‘(b)22'

- Rs. 990, one at a profit of 10% and . T
~ another at a loss of 10%. What is the .'(c'«) 23 -
,combmedpercentage ofpmﬁtorloss i
forthetwoﬂems? o (d) 28

-'_j(?) 1%-_1958-‘ ' : ‘ B A Whatlsﬂaemgltm eumt’s place of
(©) No profit no loss @3 SR
' o (b-)., 6 o

@ 0-5%,-proﬁt S |

ultmkesllhomsforaﬁ()ﬂhnjoumey -
if 120 km is done by train and the rest - _ -(d) 9 EEURS
by car. It takes 40 minutes more if : ' S

- 200km are covered by train and the S&Thesmnofthe#quares offt,mr'

* - rest by car. What is the ratio of speed - consecutive natural numbers is 294.
ofthecartothatofthetmn? Whatlsﬂmmnnofﬂlenumbets?,

'(a)sz_- T ,(a)ss_'
® 2:3 R ) M4
© 38 @0
@ss 0 e

29 C-SDHY-T-MTH



'89

'ﬂThﬂRUT x2+px+q=0ai'l§p 3¥R q

- 93.

- Faoer &, Wq#otlpﬁ(q%ﬂﬁ".'

- w2
@ 1,2

® L2
© -1,2-

@ L2

90

(a). 1

M) 2

| - @© 3

@ 4

o1, 9l

('b"'o)ﬁamuhm' VR 2 62 + b = 0

. _;wﬁmmasﬁaﬁmgmg”
: ﬁﬁaﬁﬂm:&s%? S o
, %4

'g?.-

, . _
m-———— mﬁaﬁwmm
. x +5x+10 -

(a)

®3

@1

| ®

R (- 3) Rt # o +2) wPvt T
- P EE W -2 R A ey

st grr g g S ¥ g 3 4

oy, RAxwIRAEL ?

@8
® 10

h (©) 12
S 15

| tﬂ@q:vr% wgl b s i &, aw B

9,

| ‘aﬂaﬁaﬁnmw%?
- ‘@) 36

) 4

@ e

@ o -

?va'.'a—d‘7+ % ﬁla+—ﬂﬂmﬂ
. s

| :w%?

@2

C®3
- (© 4

. SDHY-T-MTH -

@7

c

.ﬁﬁfﬁf@aﬁ%aﬁﬂmwﬂﬂ% ?

RCRAE LS £ ah &

CRAE L 1T
- © ﬂﬁp*q‘éﬂ%ﬁpaﬁtq@mw T

g

.'(d)wl_tﬁmﬁhum% -

n%maﬁmmﬁwﬁﬂmw%

B A T
L@
BCECE

@0
@1

30



. The dquatlon x2+px+q 0 hasroots- '
equaltopandqwhereqa&{) Whatare-

the values of p and q respectlvely ?.

@12

®) 1,2

..(c) —12

) —-l —-2

How many palrs ofnatural numbers
are there such that the _difference of

) theu' squaresls35?
.:_:(b) 2‘_'
) 3

o1.

@4

If (b - 6) is one Toot of the. quadratic

equation x2— 6x + b =0, where b is an

. - integer,. then what is the ma:umum
:valueosz? S

i 36

. R
() 64 N

a—\fﬂ- thenwhatlsthevalue
1 . .

5 -;_'.'Qf a +""‘

‘7-'(b) 3
@4
@ 7

®
@1

. expression 9
Iz+5x+ o

-_@ ‘

94. If the ratio of the work done by (x +2) .

workers in (x—3) days to the work
_ done by (x + 4) workers in (x —2) days
153 4 thenwhatn%theva]neofx?_

(a) 8

®) 10
© 12
(d) 15 ..

Whachoneofthe followmglsm_.'_'__-‘_:;

~correct 7
" (a) 1 IS nelther pnme nor oompos1te
(b) 0is nelther posmve nor negahve

(c) prquseven,thmpandqare
“always even

(d) J‘manmdhalnumber

7,96. Whatlsthcsmnof Imtegervaltwsof '.
n for which u2+l
square? .

@2

+92 is a petfect

®) 19
(c) 0
(d) —-19

C-SDHY-T-MTH -



91 a‘@ﬁx:"+3xz+3x+1 e, aﬁ:x— {a,{b},c}

o PAesdesxadR 0 Y={{ah b W
SR 2+ 55+ 4 | - Z=1{a, b, {c}}% -
o asraaanmmai(r.cm)wt?_ . - AannnzRms e e

@ GFPEHETEx) . G) (g b
U0 GHEFxH) L ® e, B
(c) @E+DE+x+) : '(‘;) {in} |
() (x+ 1)2(x+4)(xz+x+l) _
- (d) o

(=3 4= z)3+(z P o
. T ) ,‘*'“""‘“'" ‘”am”mq“m%ﬁ‘m'

'%? A e gl g+ 3x+2¢=0 F FE W

zhmsﬂtgum-s‘%up -9 .

'-(&)0_---_ | o mw%?r.

. g 4
’_(_b)l-_.._ |
© 2

W |

. ®

' SDHYTMTH-C 32




. ':IQS.'Wh;ai_is'_thevalueof‘_ .

§ 97 WhatmtheLCMofthe polynommls 99, 'IfX=,.{d. b} e},
: B+32+3x+1, . Y={{a},b,clend -
P+52+5x+4and 0 . - Z=f{a, b, {d}s

C ese4r ‘thm(xnr)nzequal-sm_
@ GHIPEHHE2Ex+l)

| (@ {d,b c}’
' 7 (b) (.1_:+4)(_x2'+x+1) '

®) {{a}, o), )
© o

@ _;(,p R

L@ D@ xH)
@ G +1)

ffiumbers p and ¢ are such that the .

'.'(x--y)34r(y-'z)3+(‘z..-x')f"' . .
? ~quadratic equation ‘px?+3x+2g=0

T No-e-D
‘@o . theroots Whatis the value of (p—4) ?

@ - |
TR
- @2
@ @3

(RN

 ®

@

7 has - 6asﬂlesumandtheproductof,”'
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" DO NOT wriwe anything else on the Test Booklet.

- You have to -enter your Roll Number on the

T.B.C..SDHY S S TestBookletSerieu- -
TEST BOOKLET |
ELEMENTARY MATHEMA'I']CS SE
mm MHom o o Nacimm Marki ; 100

EMDWBLY AFTER THE COM!ENCEMENT UF THB EXAWAT[ON YOU SHOULD.‘
'CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR'
. MISSING PAGES ORIT'EMS, ETC. TF SO, GETITRBPLACED BYAGOMPLETE TEST

BOOKLET..

.mmmuhtﬁemdidm%mpnmuxmm“lﬂhthMNumnd |
. 'Test Nooklet Series A, B, C or D carefully and -withont any omission &f discrepency it the
--wmmmommsmammmwmmm

Answer Sheet lisble for rejection. -

Test Booklet in the Box provided alongside.

This- Test Booklet contains 100 items (questions). E&ﬁﬁmmmﬂdhﬁh“ﬂm

‘Bach item comprises four responses (answers). You will: select the response which yon want to

- mark on fhe Answer Sheet. In case you. feel that thwre it more than one correct response, mark the

‘6.

T

9-_ ’
10.

" respomse which you consider the best. #a any case,.choose ONLY ONE response for each item.
-YwhawmmkﬂlmrespmmmYmﬂwsepmAmwShwth&edmm -
© in the Answer Sheet. :
AR items carry equal marks.
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